
SAP ABAP table RCF_S_MDL_CAND_ATTACHMENT {Structure: Attachment (Candidate)}

RCF_S_MDL_CAND_ATTACHMENT

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

OTYPE [CHAR (2)]

INFTY [CHAR (4)]

ISTAT [CHAR (1)]

T000

MANDT [CLNT (3)]
 RCF_S_MDL_CAND_ATTACHMENT-MANDT = T000-MANDT 

0..N

0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]
 RCF_S_MDL_CAND_ATTACHMENT-OTYPE = T778O-OTYPE 

0..N

0..N
T778P

MANDT [CLNT (3)]

PLVAR [CHAR (2)]

 RCF_S_MDL_CAND_ATTACHMENT-PLVAR = T778P-PLVAR 
0..N0..N

T778S

MANDT [CLNT (3)]

ISTAT [CHAR (1)]

 RCF_S_MDL_CAND_ATTACHMENT-ISTAT = T778S-ISTAT 

0..N

0..N

T778T

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 RCF_S_MDL_CAND_ATTACHMENT-INFTY = T778T-INFTY 

0..N

0..N


